p-AMPK

AMPK

WY E 35
|
!
]
|
|
)
|
]
]

- 170
o I =
e =
- 170 170 -
rrepor [[ERmammeeT] | | EEe===em)
- 40
(kDa) (kDa)
Fig 1B Fig 1C
-72
mp————— p-AMPK |~ == -ib |
p-AMPK e -5
=72
AMPK F______-n AMPK | ----—|_55
- 55
5 p-ACC |[[m=w=]
p_ACC - on o ( L -170
e ACC  |[m on on e o
130
p_Raptor ALTELZ T T e
Raptor miﬂg
el
o pcun |—
(kDa) - 40
(kDa)




p-AMPK

AMPK

p-ACC

ACC

p-Raptor

Raptor

Actin

RCC4 SK-MES
b —~—-——-'_72 — N 72




P-AMPK

AMPK

p-ACC

ACC

p-Raptor

Raptor

LKB1

CaMKK?2

TAK1

Actin

72

55

72

55

Fig 1F
_I -— e D D e e s I




Fig 1G

293T RCC4

2 724
p-AMPK - I W — N
55 55 =
2 T
-—
e R lE==)
p-ACC s
170 - W
170

<
170 170
. 170

p-Raptor ﬁl 130

N

55—
Actin 0= |-~— |I z:-—-—-

Fig 1H Fig 1l
Input lgG IP: AMPKa
Input IP: Flag
FLaG [ = ). 7

=72

55

(kDa)






